

17

الف (1)

$\epsilon_x \rho_0 = 12$

$\frac{1}{r} \times \omega \epsilon = 2V$

$12 + 2V + 6 = 103$ ✓

$6 - 103 = 20V$ ✓

ب (2)

$\omega, \omega_{min} = 20h \Rightarrow \frac{11}{r} \times \omega - \rho_0 \times \rho = 29V - 9 = 20V$ ✓

$29 - 20V = 103$ ✓

همیشه زاویه کوچکتر مدققه!

الف (2)

$\rho \times \rho_0 = 9$

$\rho \times 6 = 12$

$12 + 9 + 6 = 11$ ✓

$11 \times \frac{1}{r} = 9$

$\alpha = \left| \frac{11}{r} \min - \rho_0 h \right| \Rightarrow \left| \frac{11}{r} \times 11 - \rho_0 \times 6 \right| = |99 - 18| = 11$ ✓

الف (3)

$\frac{\pi}{s} = \rho_0$

$\frac{\rho_0}{s \rho_0} = \frac{1}{12}$

$S = \pi R^2 \rightarrow 9\pi \text{ cm}^2$

$\frac{1}{12} \times \frac{\pi}{s} = \frac{\pi}{s} \rightarrow S$ ✓

$P = \pi r R \rightarrow 6\pi$

$6\pi \times \frac{1}{12} = \frac{\pi}{2}$

$\frac{\pi}{r} + 9$ ✓

الف (4)

$\omega \times \lambda \times \frac{\sqrt{2}}{r} = 10\sqrt{2}$ ✓

$B_c = \sqrt{\rho_0 + 9\epsilon - \frac{\lambda \times \cos \theta}{\epsilon_0} \times \frac{1}{r}} = \sqrt{19 - 49} = 7$ ✓

$P = v + \omega + \lambda = 20$ ✓

الف (5)

$\frac{10}{\sin A} = \frac{10\sqrt{2}}{\sin B} = \frac{AB}{\sin C}$

$\frac{10}{r} = \rho_0 = \frac{10\sqrt{2}}{\sqrt{2}} \rightarrow B = 45^\circ$

$C = 180 - 45 = 135^\circ$

$\frac{\pi}{\epsilon} = \frac{\pi}{s}, \frac{\pi}{12}$ ✓

② (S)

①

$$A = \frac{-1}{\tau a + 1} \quad \checkmark$$

$$\sin^2 n - \cos^2 n \rightarrow \cos^2 n = \frac{1}{4}$$

①

$$\sin^2 \alpha = \frac{r}{r_0}$$

$$\tan^{-1} u = \frac{\frac{4}{50}}{\frac{1}{100}} = \boxed{2}$$

$$1 + \tan^2 = \frac{1}{\cos^2} \rightarrow \tan^2 = \boxed{2}$$

$$r \sin^2 \theta + r = 9 \cos^2 \theta$$

$$r \sin^2 \alpha + r = 9 - 9 \sin^2 \alpha \Rightarrow 1r \sin^2 \alpha = v$$

$$\sin^2 \alpha = \frac{v}{1v}$$

$$\cos^2 \alpha = \frac{a}{1+r}$$

$$\tan^r n = \frac{\frac{V}{H}}{\frac{C}{H}} = \boxed{\frac{V}{C}}$$

$$\cos(\gamma_r, \omega) = \sqrt{\frac{1 + \cos \theta}{2}} = \frac{1 + \frac{\sqrt{2}}{2}}{2} = \frac{2 + \sqrt{2}}{4} \quad \checkmark$$

$$\sin 90^\circ = \sqrt{\frac{1 - \cos 180^\circ}{2}} = \sqrt{\frac{1 + \frac{\sqrt{r}}{r}}{2}} = \sqrt{\frac{r + \sqrt{r}}{2}}$$

$$r \sin^2 u + 1 \cos^2 u - r = \sin^2 u - r \cos^2 u + 1$$

$$\cancel{r \sin^2 \alpha} + \cancel{r \cos^2 \alpha} + v \cos^2 \alpha = \Delta \rightarrow \cos^2 \alpha = \frac{r}{v}$$

$$1 + \tan^2 r = \frac{1}{\cos^2 r} \rightarrow \tan^2 r = \frac{\Delta}{r}$$